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1. (a) Elaborate the contribution of Swadeshi movement in Indian education? 08 

  OR  

  Explain the effect of Hunter’s Commission on the growth of education in India? 08 

    

 (b) Elaborate on the major recommendations of the Mudaliar Commission? 08 

  OR  

  Explain how the National Policy of education brought a change in post-independence 

educational scenario? 

08 

    

2. (a) Explain the concept of pre-primary education and the types of pre-primary schools in India? 08 

  OR  

  Explain the curriculum of pre-primary education in India? 08 

    

 (b) Explain in brief :- 1) Sarva Siksha Abhiyan 2) Single teacher Schools 08 

  OR  

  Describe the Impediments in Implementation of compulsory primary education in India. 08 

    

3. (a) Why has it not been possible to effectively implement compulsory primary education in 

India? 

08 

  OR  

  Explain the measures taken by the Government to improve the quantity and quality of primary 

education. 

08 

 (b) Highlight the merits and limitations of the 10+2+3 pattern of education with respect to the 

secondary stage of education? 

08 

  OR  

  What are the current trends and problems in technical education in India? 08 

    

4. (a) Elaborate on the functioning of YCMOU. 08 

  OR  

  How have IGNOU and YCMOU worked towards making education available and reachable 

to the masses? Explain. 

 

 (b) Explain the role of IGNOU as a major open university in India.  

    

  What are some of the Current trends of Non Formal education in India?  
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5.  Write note on any four of the following : 16 

  a) Contribution of Swadeshi movement in India education.  

  b) Teaching methods as per the recommendations of Kothari Commission  

  c) Importance of pre-primary education  

  d) Concept of Wastage and Stagnation in primary education  

  e) Aim of education according to Ishwarbhai Commission  

  f) Nature of Non-formal Education.  

    

6.  Write a detailed account of your practical work in this paper. 20 

  

------------------------------ 
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(‘amR>r AZwdmX) 

 
 

1. (A) ^maVr¶ {ejUmVrb ñdXoer MidirMo ¶moJXmZ g{dñVa {bhm. 08 
  qH$dm  
  ^maVr¶ {ejUmÀ¶m dmT>rda h§Q>a Am¶moJmMm à^md ñnîQ> H$am. 08 
    
 (~) ‘wX{b¶ma Am¶moJmÀ¶m ‘hÎdnyU© {e’$maer g{dñVa {bhm. 08 
  qH$dm  
  ñdmV§Í¶moÎma e¡j{UH$ n[apñWVr‘Ü¶o amîQ´>r¶ e¡j{UH$ YmaoUmZo H$emàH$mmao ~Xb KS>dyZ AmUbo ho ñnîQ> H$am. 08 
    

2. (A) nyd©-àmW{‘H$ {ejUmMr g§H$ënZm ñnîQ> H$am Am{U ^maVmVrb nyd© àmW{‘H$ emim§Mo àH$ma gm§Jm. 08 
  qH$dm  
  ^maVmVrb nyd©-àmW{‘H$ Aä¶mgH«$‘ ñnîQ> H$am. 08 
    
 (~) WmoS>³¶mV ñnîQ> H$am …- 1) gd© {ejU A{^¶mZ    2) EH${ejH$s emim 08 
  qH$dm  
  ^maVmVrb g³VrÀ¶m àmW{‘H$ {ejUmÀ¶m A§‘b~OmdUrVrb AS>Wiçm§Mo dU©Z H$am. 08 
    

3. (A) ^maVm‘Ü¶o g³VrÀ¶m àmW{‘H$ {ejUmMr à^mdrembr A§‘b~OmdUr H$m hmoD$ eH$br Zmhr? 08 
  qH$dm  
  àmW{‘H$ {ejUmMm XOm© gwYmaÊ¶mgmR>r emgZmZo ¶mo{Obobo Cnm¶ ñnîQ> H$am. 08 
 (~) ‘mÜ¶{‘H$ ñVamdarb {ejUmÀ¶m g§X^m©V 10+2+3 aMZoMo JwU Am{U ‘¶m©Xm ¶m§da àH$mePmoV Q>mH$m. 08 
  qH$dm  
  ^maVmVrb Vm§{ÌH$ {ejUmVrb àM{bV àdmh Am{U g‘ñ¶m H$moUË¶m? 08 
    

4. (A) dm¶grE‘²Amo¶yMo H$m¶© g{dñVa {bhm. 08 
  qH$dm  
  B½Zy Am{U dm¶grE‘²Amo¶y hçm§Zr bmoH$m§Zm {ejU H$emàH$mao CnbãY Am{U àmß¶ H$ê$Z {Xbo? ñnîQ> H$am.  
 (~) ^maVmVrb EH$ à‘wI ‘w³V {dÚmnrR> åhUyZ B½ZyMr ŷ{‘H$m ñnîQ> H$am. 08 
  qH$dm  
  ^maVmVrb Z-Am¡nMm[aH$ {ejUmVrb H$mhr àM{bV àdmh H$moUVo?  
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5. Imbrbn¡H$s H$moUË¶mhr Mmam§da WmoS>³¶mV {bhm. 16 
  (A) ^maVr¶ {ejUmV ñdXoer MidirMo ¶moJXmZ  
  (~) H$moR>mar Am¶moJmÀ¶m {e’$maerZwgma AÜ¶mnZ nX²YVr  
  (H$) nyd© àmW{‘H$ {ejUmMo ‘hÎd  
  (S>) àmW{‘H$ {ejUmVrb JiVr Am{U ñWJZmMr g§H$ënZm  
  (B) B©ída^mB© Am¶moJmZwgma {ejUmMo ñdê$n  
  (’$) Z-Am¡nMm[aH$ {ejUmMo ñdê$n.  
    

6. hçm nonagmR>r Vwåhr Ho$boë¶m àmË¶{jH$ H$m¶m©Mm g{dñVa Ahdmb {bhm. 20 
 

---------------- 
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1. (A) ^maVr¶ {ejm ‘| ñdXoer Am§XmobZ H$m ¶moJXmZ {dñVma go {b{IE& 08 
  AWdm  
  ^maVr¶ ‘| {ejm H$s d¥{Õ na h§Q>a A¶moJ Ho$ à^md ñnîQ> H$s{OE& 08 
    
 (~) ‘wX²{b¶ma Am¶moJ H$s ‘hÎdnyU© {e’$m[ae| {dñVma go {b{IE& 08 
  AWdm  
  AmOmXr Ho$ ~mX amîQ´>r {ejm Zr{V Zo e¡j{UH$ n[apñW{V ‘| {H$g àH$ma Ho$ n[adV©Z bm¶o h¡? ñnîQ> H$s{OE& 08 
    

2. (A) nyd© àmW{‘H$ {ejm H$s g§H$ënZm ñnîQ> H$s{OE Am¡a ^maV ‘| nyd© àmW{‘H$ {dÚmb¶ Ho$ àH$ma ~OmB¶o& 08 
  AWdm  
  ^maV ‘| nyd©-àmW{‘H$ {ejm Ho$ Aä¶mgH«$‘ ñnîQ> H$s{OE& 08 
    
 (~) g§jon ‘| {b{IE …- 1) gd© {ejm A{^¶mZ    2) EH ${ejH$ {dÚmb¶ 08 
  AWdm  
  ^maV ‘| àmW{‘H$ {ejm H$mo A{Zdm¶© ~ZmZo ‘| AmZo dmbr ~mYmAm| H$m dU©Z H$s{OE& 08 
    

3. (A) ^maV ‘| A{Zdm¶© àmW{‘H$ {ejm H$m à^mdH$mar H$m¶m©Ýd¶Z ‘w‘{H$Z ³¶m| Zht hmo nm¶m h¡? 08 
  AWdm  
  àmW{‘H$ {ejm H$s JwUdÎmm VWm ‘mÌm gwYmaZo hoVy àemgZ X²dmam {H$¶o Cnm¶m| H$mo ñnîQ> H$s{OE& 08 
 (~) ‘mÜ¶{‘H$ ñVa na {ejm Ho$ g§X^© ‘| 10+2+3 {ejm Ho$ n¡Q>Z© Ho$ JwU Am¡a ‘¶m©XmAm| na àH$me S>m{b¶o& 08 
  AWdm  
  ^maVr¶ ZH$ZrH$s {ejm ‘| àM{bV àdmh Am¡a g‘ñ¶m H$m¡Z-gr h¡? 08 
    

4. (A) dm¶.gr.E‘.Amo.¶y. Ho$ H$m¶© {dñVma go {b{IE& 08 
  AWdm  
  B½Zy Am{U dm¶grE‘²Amo¶y Zo bmoJm| H$mo {ejm {H$g àH$ma CnbãY Am¡a nhþ±M ¶mo½¶ ~ZmB© h¡? ñnîQ> H$s{OE&  
 (~) ^maV H$s EH$ à‘wI ‘w³V {díd{dÚmb¶ Ho$ ê$n ‘| B½Zy H$s ^y{‘H$m ñnîQ> H$s{OE& 08 
  AWdm  
  ^maV ‘| AZm¡nMm[aH$ {ejm Ho$ àM{bV àdmh H$m¡Z-go h¡?  
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5. {ZåZ ‘| go {H$Ýht Mma na g§jon ‘| {b{IE …- 16 
  (A) ^maVr¶ {ejm ‘| ñdXoer Am§XmobZ H$m ¶moJXmZ  
  (~) H$moR>mar Am¶moJ H$s {e’$magm| Ho$ AZwgma AÜ¶mnZ nÕVr  
  (H$) nyd© àmW{‘H$ {ejm Ho$ ‘hÎd  
  (S>) àmW{‘H$ {ejm ‘| ~~m©Xr Am¡a R>hamd H$s g§H$ënZm  
  (B) B©ída^mB© Am¶moJ Ho$ AZwgma {ejm Ho$ Ü¶o¶  
  (’$) AZm¡nMm[aH$ {ejm Ho$ ñdê$n  
    

6. Bg nona ‘| AmnHo$ X²dmam {H$¶o JE ì¶dhm[aH$ H$m¶} H$m boIm {dñVma go {b{IE& 20 
 
 

---------------- 
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[Time: 3 Hours] [ Marks: 100] 

Please check whether you have got the right question paper. 

 

Q.1 (a) Educational technology is widely accepted as sum of technology in education and 

technology of education – Explain. 

08 

  OR  

  ͚Educational technology is inevitable in today͛s world͛. Explain.   

    

 (b) Define communication and explain the process of communication. 08 

  OR  

  Explain the various barriers in classroom communication.  Suggest ways to overcome 

these barriers.  

 

    

Q.2 (a) Explain the use of Transactional Analysis as a communication skill.  What are its 

implications for effective teaching and learning? 

08 

  OR  

  ͚Transactional analysis is very essential for effective classroom interaction͛. Explain.  

    

 (b) ͚Questioning is a skill which draws attention to higher mental abilities͛.  Explain. 08 

  OR  

  ͚Educational films and videos can be used as effective teaching aids͛. Explain in light of 

its advantages and limitations.  

 

    

Q.3 (a) ͚Black board is still used as an effective teaching aid in teaching learning process͛. 
Explain.  

08 

  OR  

  State the meaning of Multisensory learning. How can a teacher integrate the 

principles of multisensory learning effectively in the teaching learning process in a 

classroom? 

 

    

 (b) Explain the use of maps as teaching aids, bringing out their advantages and 

limitations.  

 

  OR  

  What are the principle underlying programmed learning?  What are the advantages 

and limitations of programmed learning? 

 

    

Q. 4 (a) What are the advantages and limitations of dramatization as a method of teaching 

and learning? 

08 

  OR  

  Explain the stages involved in organizing workshops for teaching.  

 (b) ͚Computer Managed Instruction (CMI) is a management administration system that 

tracks students progress͛.  Explain in light of light of its benefits and limitations.  

08 
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  OR  

  “Computer Assisted Instruction enhances the traditional classroom teaching͛. Explain  

    

Q.5  Write notes on any four topics:  16 

  (a) Factors to promote effective communication  

(b) Types of distance modes of communication 

(c) Steps of self learning method  

(d) Field trips for effective instruction 

(e) Benefits of CAI 

 

    

Q.6  Write a detailed account of your practical work in this paper. 20 

 

 

_______________ 
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(‘amR>r AZwdmX) 

                                                                                                 (3 Vmg)                                                      (EHw$U JwU… 100) 
 
 

 

à.1 (A) ""e¡j{UH$ V§ÌkmZ ho {ejUmVr ho V§ÌkmZ Am{U {ejUmMo V§ÌkmZ ¶m§Mr Jmoi~oarO gd©Xÿa ñdrH¥$V 
Pmbo Amho.'' ñnîQ> H$am. 

08 

  Am{U  
  ""AmOÀ¶m OJmV e¡j{UH$ V§ÌkmZ ho An[ahm¶© Amho'' ñnîQ> H$am.  
    
 (~) g§àofUmMr ì¶m»¶m Úm Am{U g§àofU à{H«$¶m ñnîQ> H$am. 08 
  Am{U  
  dJ©g§àofUmVrb {d{dY AS>Wio ñnîQ> H$am h¶m AS>Wi¶m§da ‘mV H$aÊ¶mgmR>r ‘mJ© gyMdm.  
    
à.2 (A) g§àofU H$m¡eë¶ åhUyZ ì¶dhma {díbofUmMm Cn¶moJ ñnîQ> H$am. à^mdembr AÜ¶¶Z AÜ¶mnZmgmR>r 

Ë¶mMo ’${bVmW© H$moUVo? 
08 

  Am{U  
  ""à^mdembr dJ© Am§Va{H«$¶ogmR>r ì¶dhma {díbofU AË¶mdí¶H$ Amho.'' ñnîQ> H$am.  
    
 (~) ""àíZV§Ì ho CƒñVar¶ ‘mZ{gH$ j‘VmH$S>o bj doYyZ KooVo.'' ñnîQ> H$am. 08 
  Am{U  
  ""e¡j{UH$ {MÌnQ> Am{U pìh{S>AmoO Mm à^mdr e¡j{UH$ gmYZ åhUyZ dmna H$aVm ¶oB©b.' Ë¶mMo 

’$m¶Xo A{ÊU ‘¶m©Xm§À¶m g§X^m©V àH$mePmoV Q>mH$m. 
 

    
à.3 (A) ""AÜ¶¶Z AÜ¶mnZ à{H«$¶o‘Ü¶o à^mdr e¡j{UH$ gm{hË¶ åhUyZ AOyZhr ’$bH$mMm Cn¶moJ Ho$bm 

OmVmo.'' ñnîQ> H$am. 
08 

  Am{U  
  ~hþE|{Ð¶ AÜ¶¶ZmMm AW© {bhm.  {ejH$mbm dJm©Vrb AÜ¶¶Z AÜ¶mnZ à{H«$¶oV ~hþE|{Ð¶ AÜ¶¶Z 

VËdm§Mo à^mdr EH$mË‘rH$saU H$emàH$mao H$aVm ¶oB©b? 
 

    
 (~) e¡jpÊmH$ gmYZ åhUyZ ZH$mem§Mm Cn¶moJ Ë¶m§Mo ’$m¶Xo Am{U ‘m¶m©Xm§gh ñnîQ> H$am.  
  Am{U  
  H«$‘mpÝdV AÜ¶¶ZmMr VËdo H$moUVr? H«$‘mpÝdV AÜ¶¶ZmMo ’$m¶Xo Am{U ‘¶m©Xm H$moUË¶m?  
    
    
   

 

 

 



 

               Q.P. Code : 38962 

 

TURN OVER 

 

4 

    
à.4 (A) AÜ¶¶Z AÜ¶mnZmMr EH$ nÕVr åhUyZ ZmQ>¶rH$aUmMo ’$m¶Xo Am{U ‘¶m©Xm H$moUË¶m? 08 
  Am{U  
  AÜ¶mnZmgmR>r H¥${VgZo Am¶moOZmVrb Q>ßno ñnîQ> H$am.  
    
 (~) g§JUH$ ì¶dñWm{n¶ AZwXoeZ (grE‘Am¶) hr àemgH$s¶ ì¶dñWmnZ àUmbr {dÚmÏ¶mªÀ¶m àJVrMm 

‘mJmodm KoVo.'' {VMo JwU Am{U ‘¶m©XmÀ¶m g§X^m©V àH$mePmoV Q>mHy$Z ñnîQ> H$am. 
 

  Am{U  
  ""g§JUH$ ghmæ¶ AZwXoeZ nma§n[aH$ dJ©AÜ¶mnZ C§MmdVo.' ñnîQ> H$am.  
    
à.5  Imbrbn¡H$s H$moUË¶mhr Mmam§da WmoS>³¶mV {bhm 16 
  A) à^mdr g§àofU g§dm{Y©V H$aÊ¶mgmR>r KQ>H$ 

~) g§àofUmVrb ~{hñW ‘mJmªMo àH$ma 
H$) Am°ZbmB©Z AÜ¶¶Z 
S>) ñd¶-AÜ¶¶Z nÕVrÀ¶m nm¶è¶m 
B) à^mdr AZwXoeZmgmR>r ñWi ôQ>r  
’$) grEAm¶ Mo ’$m¶Xo 

 

 

    
à.6  h¶m nonagmR>r Vwåhr Ho$boë¶m àmË¶{jH$ H$m¶m©Mm Ahdmb {bhm.  
    
    

 

…………………………………….. 
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({hÝXr AZwdmX) 

 
 

1. (A) ""e¡{jH$ VH$ZrH$s, ¶h {ejm H$s hH$ZrH$s Am¡a {ejm H$s VH$ZrH$s Ho$ én ‘| ñdrH¥$V JB© h¡'' Ho$ ¶moJ ñnîQ> 
H$s{OE& 

08 

  AWdm  
  ""AmO Ho$ g§gma ‘| e¡{jH$ VH$ZrH$s An[ahm¶© h¡&'' ñnîQ> H$s{OE& 

 
08 

 (~) g§àofU H$s n[a^mfm {b{IE Am¡a g§àofU à{H«$¶m ñnîQ> H$s{OE. 08 
  AWdm  
  dJ© g§àofU H$s {d{dY ~mYm¶| ñnîQ> H$s{OE& BZ ~mYmAm| H$mo Xÿa H$aZo Ho$ CnmE ~VmB©¶o& 08 
    

2. (A) g§àofU H$m¡eë¶ Ho$ én ‘| ì¶dhma {díbofU Ho$ Cn¶moJ ñnîQ> H$s{OE& à^mdembr AÜ¶¶Z-AÜ¶mnZ Ho$ 
{bE CgHo$ ’${bVmW© {b{IE& 

08 

  AWdm  
  ""à^mdembr dJmªVa {H«$¶m Ho$ {bE ì¶dhma {díbofU Amdí¶H$ h¡&'' ñnîQ> H$s{OE& 08 
    
 (~) ""àíZ V§Ì H$m¡eb ¶h CƒñVar¶ ‘mZ{gH$ j‘Vm H$m {Z‘m©U H$aVr h¡&'' ñnîQ> H$s{OE& 08 
  AWdm  
  "e¡{jH$ {’$ë‘ Am¡a ìhrS>r¶m| H$m Cn¶moJ e¡{jH$ gmYZ Ho$ é‘ {H$¶m OmVm h¡&'' CgHo$ bm^ VWm ‘¶m©XmAm| 

na àH$me S>m{b¶o& 
08 

    
3. (A) ""AÜ¶¶-AÜ¶mnZ à{H«$¶m ‘| à^mdr e¡{jH$ gm{hË¶ Ho$ én ‘| A^m ^r ãboH$ ~moS>© (’$bH$) H$m Cn¶moJ 

{H$¶m OmVm h¡&'' ñnîQ> H$s{OE& 
08 

  AWdm  
  ~hþB§qÐ¶ AÜ¶¶Z H$m AW© {b{IE& {ejH$ AÜ¶¶Z-AÜ¶mnZ à{H«$¶m ‘| ~hþB§qÐ¶ AÜ¶¶Z VËdm| H$m à^mdr 

EH$mË‘rH$aU {H$g àH$ma H$a|J|? 
 

08 

 (~) e¡{jH$ gmYZ Ho$ én ‘| ZH$em| Ho$ Cn¶moJ CgHo$ ’$m¶Xo Am¡a ‘¶m©XmAm| H$mo ñnîQ> H$s{OE& 08 
  AWdm  
  H«$‘mpÝdV  AÜ¶¶Z Ho$ {gX²Ym§V H$m¡Z-go h¡? H«$‘mpÝdV AÜ¶¶Z Ho$ bm^ Am¡a ‘¶mXm¶| {b{IE& 08 
    

4. (A) AÜ¶¶Z-AÜ¶mnZ H$s EH$ nX²YVr Ho$ én ‘| ZmQ>çrH$aU Ho$ bm^ Am¡a ‘¶m©Xm¶| {b{IE& 08 
  AWdm  
 (~) AÜ¶m¶Z Ho$ {bE Am¶mo{OV H$m¶©embm Ho$ gmonmZm| H$mo ñnîQ> H$s{OE& 08 
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 ~) ""g§JUH$ ì¶dñW{nV AZwXoeZ ¶h àemgH$s¶ ì¶dñWmnZ àUmbr, N>mÌm| H$s àJVr H$m Ü¶mZ aIVr h¡&'' 
BgHo$ bm^ Am¡a ‘¶m©XmAm| na àH$me S>m{b¶o& 

 

  AWdm  
  ""g§JUH$ ghm¶ AZwXoeZ ¶h nm§an[aH$ dJ©-AÜ¶mnZ H$mo ~‹T>mVr h¡&'' ñnîQ> H$s{OE& 

 
 

5. {ZåZ{b{IV ‘| go {H$Ýhr nm§M na {Q>ßnUr¶m± {b{IE& 16 
 A) à^mdr g§àofU H$mo ~T>mZo dmbo KQ>H$  
 ~) g§no«fU ‘| ~mø ‘mJm} Ho$ àH$ma  
 H$) AmZ-bmB©Z bqZ©J  
 S>) ñd¶ AÜ¶¶Z nX²YVr Ho$ gmonmZ  
 B) à^mdr AZwXoeZ Ho$ {bE joÌr¶ ¶mÌmE±  
 ’$) gr.Eo.AmB© Ho$ bm^  
    

6. Ba nona Ho$ {bE {H$¶o JE àmË¶{jH$ H$m¶© H$m boIm {dñVma go {b{IE& 20 
 
 

---------------- 
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[Time: Three Hours] [ Marks: 100] 

Please check whether you have got the right question paper. 

N.B: 1. Use of a simple calculator is permitted. 

 

1. a. Explain fully the modern concept of Educational Evaluation.  07 

  OR  

  Illustrate the interdependence of measurement and Evaluation.   

    

 b. Differentiate between Formative Evaluation & Summative 

Evaluation. 

08 

  OR  

  Explain the meaning and purpose of Educational Evaluation.  

    

2. a. What do you understand by ‘Learning Outcomes’? Elaborate 
the significance of learning outcomes.  

07 

  OR  

  Differentiate between Aims & Objectives in education.   

    

 b. What are Educational Aims & Objectives? Explain the 

Bloom’s Taxonomy of Educational objectives. 

08 

  OR  

  Explain the Instructional Objectives of the Psychomotor 

Domain. 

 

    

3. a. What is meant by ‘Reliability’ of a test? Why reliability is 

called the consistency of an instrument? 

07 

 

  OR  

  Explain the characteristics of a good measurement instrument 

with examples. 

 

    

 b. “Oral examinations are an essential form of evaluation, in spite 

of its limitations.” Justify. 
08 

  OR  

  Describe the guidelines for improving the construction and 

assessment of essay type tests 

 

    

4. a. Explain the concept of Norm referenced tests.  07 

  OR  

  Explain the concept of Criterion referenced tests.  
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 b. “Open book examinations are becoming popular in higher 

education.” Comment. 
08 

  OR  

  “Internal assessment and external assessment should 
supplement each other for proper evaluation of the student”. 
Justify. 

 

    

5. a. Enumerate the merits and limitations of frequency polygon 05 

    

 b. Observe the table below and answer the questions. 04 

  class 

Intervals 

20-30 30-40 40-50 50-60 60-70 70-80 

Frequency  7 13 26 30 18 6 
 

 

  i. How many students are there, in all?  

  ii. What is the mid-point of class interval 40-50?   

  iii. If 40 is the minimum for passing, how many students 

failed?  

 

  iv. What is the lower limit of class interval 60-70?  

    

 c. Find mean, median and standard deviation of the above 

distribution 

11 

    

6.  Write short note on any 4 of the following: 20 

 a. Functions of educational Evaluation.  

 b. Merits of Rating Scale  

 c. Instructional objectives of the Cognitive Domain  

 d. Steps of stating learning outcomes  

 e. Merits and limitations of practical items.   

 f. Uses of Checklists   

    

 

 

*********** 
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[वेळ : तीन तास] [ गुण : १००] 

Please check whether you have got the right question paper. 

 

१. अ. शकै्षणिक मलू्यमापनाची आधुणनक संकल्पना स्पष्ट करा.  ०७ 

  क िं वा   

  मापन आणि मलू्यमापनाचे परस्परावलंबीत्व स्पष्ट करा.   

    

 ब. णनमाािात्मक आणि समापनात्मक मलु्यमापनातील फरक स्पष्ट करा.  ०८ 

  क िं वा  

  शकै्षणिक मलू्यमापनाचा अर्ा आणि हते ूस्पष्ट करा.   

    

२. अ. अध्ययन णनष्पत्ती म्हिज ेकाय? अध्ययन णनष्पत्तीचे महत्त्व स्पष्ट करा.  ०७ 

  क िं वा  

  ध्येये आणि उणिष्टांतील फरक स्पष्ट करा.   

    

 ब. शकै्षणिक ध्येये आणि उणिष्टये म्हिज ेकाय? शकै्षणिक उणिष्टांसाठी ब्लमुची श्रेिी स्पष्ट करा.  ०८ 

  क िं वा  

  णियात्मक के्षत्राच्या अनदुशेन उणिष्टांचे स्तर स्पष्ट करा.   

    

३. अ. समप्रमािता म्हिज ेकाय? समप्रमािता ही साधनाची सातत्यता का म्हटली जाते? ०७ 

  क िं वा   

  चांगल्या मापन साधनांची वणैशष्टये उदाहरिासह सपष्ट करा.  

    

 ब. ‘मौणिक परीक्षेला मयाादा असल्या तरीही , ती मलू्यमापनाचे महत्त्वाचे अगं आह.े’ समर्ान 
करा.  

०८ 

  क िं वा  

  णनबंधवजा प्रश्ांचीरचना सधुारण्यासाठी आणि मलू्यणनधाारिासाठी मागादणशाकेचे विान करा.    

    

४. अ. प्रमाि संदणभाय कसोट यांची संकल्पना सणवस्तर स्पष्ट करा.  ०७ 

  क िं वा  

  णनकष संदभीय कसोट यांची संकल्पना सणवस्तर स्पष्ट करा.   
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ब. आधणुनक णशक्षिात िलेु पसु्तक परीक्षा लोकणप्रय होत आहते.’ ह्या व्यवस्र्ेची संकल्पना 
आणि फायद्ांना णवचारात घेऊन णवधानाचे परीक्षि करा. 

०८ 

  क िं वा  

  “णवद्ार्थयाांचा योग्य मलू्यमापनासाठी अतंगात आणि बाह्य मलू्यणनधाारि परस्परपरूक असले 
पाणहजते.” समर्ान करा. 

 

    

५. अ. वारंवाररता बहुभजुाकृतीचे गिु आणि मयाादा णलहा.   ०५ 

    

 ब. िाली णदलेल्या णवतरि तक्तत्याचे णनरीक्षि करून णवचारलेल्या प्रश्ांची उत्तरे णलहा:  ०४ 

  वगाांतर 
गिु 

२०-३० ३०-४० ४०-५० ५०-६० ६०-७० ७०-८० 

णवद्ार्ी 
संख्या  

७ १३ २६ ३० १८ ६ 

 

 

  i. एकूि णवद्ार्ी संख्या णकती आह?े   

  ii. वगाांतर ४०-५० चा मध्यणबंद ुकोिता?   

  iii. जर ४० ह ेणकमान उत्तीिा गिु असतील तर नापासाची संख्या णकती?   

  iv. वगाांतर ६०-७० ची णनम्न मयाादा कोिती?   

    

 क. वरील णवतरिाचे मध्यमान, मध्यांक आणि प्रमाि णवचलन शोधा. ११ 

    

६.  िालीलपैकी कोित्याही चारांवर र्ोडक्तयात णलहा.  २० 

 अ. शकै्षणिक मलू्यमापनाची काये  

 ब.  पदणनश्चयन श्रेिीचे गिु   

 क. बोधात्मक के्षत्रांतगात अनदुेशन उणिष्ट े  

 ड. अध्ययन णनष्पत्ती णलणहण्याच्या पायऱ्या  

 इ.  प्रात्यणक्षक परीके्षचे गिु आणि मयाादा   

 फ. चेकणलस्ट चे उपयोग  

    

 

************* 
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[समय  : ३ घिंटे] [  ुल अिं : १००] 

Please check whether you have got the right question paper. 

 

१. अ. शणैक्षक मलु्यमापन की आधणुनक संकल्पना को णवस्तार से स्पष्ट कीणजए| ०७ 

  अथवा  

  मापन तर्ा मलू्यमापन के परस्परावलंबन को सोदाहरि सणहत स्पष्ट कीणजए|   

    

 ब. णनमाािात्मक तर्ा समापकात्मक में भदे बताइयें| ०८ 

  अथवा  

  शणैक्षक मलू्यमापन क अर्ा तर्ा हते ूको स्पष्ट कीणजए|  

    

२. अ. अध्ययन णनष्पणत्त से आप क्तया समझाते ह?ै अध्ययन णनष्पणत्त के महत्त्व को सोदाहरि स्पष्ट 
कीणजए| 

०७ 

  अथवा  

  शणैक्षक ध्येये तर्ा उिशे में भदे कीणजए|  

    

 ब. शणैक्षक उिेश तर्ा ध्येय से क्तया तात्पया ह?ै ब्लमू को शणैक्षक उिशे्यों के वगीकरि को स्पष्ट 
कीणजए| 

०८ 

  अथवा  

  णियात्मक के्षत्र के अनदुशेानात्मक उिशे का विान कीणजए|  

    

३. अ. णवश्वसनीयता से क्तया तात्पया ह?ै णकसी उपकरि की णस्र्रता का णवश्वसनीयता क्तयों कहा 
जाता ह?ै 

०७ 

  अथवा  

  एक अच्छे मापन यंत्र की णवशेषताओ ंका विान कीणजए|  

    

 ब. ‘अपने मयाादाओ ंके बावजदू मौणिक परीक्षा मलू्यमापन का एक आवश्यक प्रारूप ह’ै – 
न्यायोचन कीणजए| 

०८ 

  अथवा  

  णनबंधात्मक प्रश्ों की णनमााती तर्ा मलु्यांकन के णलये णदशा णनदशेों क विान कीणजए|  

    

४. अ. प्रमाि संदणभाय कसोटी की संकल्पना णवस्तार से स्पष्ट कीणजए| ०७ 

  अथवा  

  णनकष संदणभाय कसोटी की संकल्पना णवस्तार से स्पष्ट कीणजए|   

    

    



 Q.P. Code :40072 

 

 

Page 6 of 6 

 

 ब. “आधणुनक णशक्षा में िलुी पसु्तक परीक्षा लोकणप्रय हो रही ह|ै” इस व्यवस्र्ा की संकल्पना 
और लाभ के संदभा में णवज्ञान का पररक्षि कीणजए| 

०७ 

  अथवा  

  “णवद्ाणर्ायों के योग्य मलु्यांकन के णलये अतंगात और बाह्य मलू्य णनधाारि परस्पर परूक होने 
चाणहए|” समर्ान कीणजए| 

 

    

५. अ. बारबांररटा बहुभजुाकृणत का लाभ और मयाादाए ँणलणिए|  ०५ 

    

 ब. सारिी का णनरीक्षि कर णनम्न प्रश्ों के उत्तर दीणजए: ०४ 

  वगाांतर 
गिु 

२०-३० ३०-४० ४०-५० ५०-६० ६०-७० ७०-८० 

णवद्ार्ी 
संख्या  

७ १३ २६ ३० १८ ६ 

 

 

  i. कुल णवद्ाणर्ायों की संख्या णकतनी ह?ै   

  ii. वगाांतर ४०-५० की मध्यणबंद ुक्तया ह?ै   

  iii. अगर ४० यह अणधकतम उत्तीिा अकं ह ैतो णकतने णवद्ार्ी अनतु्तीिा ह?ै    

  iv. वगाांतर ६०-७० की णनम्न मयाादा क्तया ह?ै   

    

 क.  उपरोक्त णवतरि का मध्यमान, मध्यांक और प्रमाि णवचलन जात कीणजए|  ११ 

    

६.  णनम्न में से क न्ही चार पर संके्षप में णलणिए:- २० 

 अ. शकै्षणिक मलू्यमापन के काये  

 ब.  पदणनश्चयन श्रेिी के फायद े  

 क. ज्ञानात्मक क्षेत्र के उिशे्यों के स्तर  

 ड. अध्ययन णनष्पत्ती के सोपान  

 इ.  प्रात्यणक्षक परीके्षचे गिु   

 फ. चेकणलस्ट के मागादशाक णसद्ांत  

    

 

*********** 
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TURN OVER 

[Time: - 3 Hours] [ Marks: 100] 

 

N.B: 1. Attempt all the questions. 

 

 

1. A) Explain the effect of Hunter's Commission on the growth of education in India? 08 

  OR  

  Describe the impact of the Swadeshi Movement on Indian education.  

    

 B) Explain recommendations of the Kothari Commission regarding: 08 

  i. Work Experience ii. Science Education 
 

 

  OR  

  Elaborate the recommendations of the National Policy of Education regarding National System 

of Education & Early Childhood Care & Education. 

 

    

2. A) Explain the curriculum of pre-primary education in India 08 

  OR  

  Trace the development of pre-primary education in India.  

    

 B) Critically evaluate the curriculum and evaluation procedures followed in primary education in 

India. 

08 

  OR  

  Explain the role of the central and state government in the Universalisation of Elementary 

Education. 

 

    

3. A) Describe the curriculum of primary education in India. 08 

  OR  

  Does India need a Common School System for the 10+2+3 pattern of education? Justify with 

relevance to new educational policies in India 

 

    

 B) What are 'Public Schools'? Explain fully their types, merits and limitations. 08 

  OR  

  Explain the recommendations of the 1952-53 Secondary Education (Mudaliar) Commission. 

Evaluate its merits and demerits. 

 

    

4. A) Explain the concept & need of Adult Education. 08 

  OR  

  'When Formal, Informal and Non Formal Education work jointly, the needs of 

India can be realized'. Comment. 
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 B Describe the role of IDOL in Distance education.  

  OR  

  'IGNOU and YCMOU playa significant role in providing educational opportunities to those who 

have missed it'. Comment. 

 

    

5.  Write short notes on any 4 of the following: 16 

  a. Early efforts of the East India Company in Indian education 

b. Administration of Junior colleges 

c. Need for vocationalisation of education at secondary stage. 

d. Administration of primary schools 

e. Technical education at the secondary stage 

f. Types of pre-primary institutions 

 

    

6.  Write a report of the interviews conducted by you on 'School Drop Outs' or the visit to a 

NonFormal Educational Institution' done as Practical Work for this paper. 

20 

 

__________ 
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                                                    (‘amR>r AZwdmX) 
                                                 (doi - 3 Vmg) JwU … 100 

 

gyMZm…  1. gd© àíZ A{Zdm¶© AmhoV. 
 

 
1. (A) ^maVmVrb {ejUmÀ¶m {dH$mgmda h§Q>a Am¶moJmMm à^md ñnîQ> H$am. 08 
  qH$dm  
  ^maVr¶ {ejUmda ñdXoer MidirÀ¶m n[aUm‘mMo dU©Z H$am.  
    
2. (~) nwT>rb g§X^m©V H$moR>mar Am¶moJmÀ¶m {e’$maer ñnîQ> H$am…- 08 
  1) H$m¶m©Zw^d 2) {dkmZ {ejU 

 

 
  qH$dm  
  amîQ´>r¶ {ejU nX²YVr Am{U ~mbg§JmonZ Am{U {ejUmgmR>r amîQ>́r¶ e¡j{UH$ YmoaUmÀ¶m  {e’$maer 

{dñVmanyd©H$ {bhm. 
 

    
2. (A) ^maVmVrb nyd©-àmW{‘H$ {ejUmMm Aä¶mgH«$‘ ñnîQ> H$am. 08 
  qH$dm  
  ^maVmVrb nyd© àmW{‘H$ {ejUmMm AmT>mdm ¿¶m.  
    
 (~) ^maVmVrb àmW{‘H$ {ejUmMm Aä¶mgH«$‘ Am{U ‘yë¶‘mnZ à{H«$¶oMo g‘rjmË‘H$ ‘yë¶‘mnZ H$am. 08 
  qH$dm  
  àmW{‘H$ {ejUmÀ¶m gmd©{ÌH$sH$aUmV H|$Ð Am{U amÁ¶ emgZmMr ^y{‘H$m ñnîQ> H$am.  
    
3. (A) ^maVmVrb àmW{‘H$ {ejUmÀ¶m Aä¶mgH«$‘mMo dU©Z H$am. 08 
  qH$dm  
  10+2+3 {ejU aMZogmR>r ^maVmb EH$g‘mZ embo¶ ì¶dñWoMr JaO Amho H$m? ^maVmVrb ZdrZ e¡j{UH$ 

YmoaUm§À¶m g§X^m©V Vw‘À¶m CÎmamMo g‘W©Z H$am. 
 

    
 (~) "nm{ãbH$ ñHy$ëg' åhUOo H$m¶? Ë¶m§Mo àH$ma, JwUd¡{eîQ>¶o Am{U ‘¶m©Xm ñnîQ> H$am. 08 
  qH$dm  
  1952-53 Mm ‘mÜ¶m‘H$ {ejU (‘wX{b¶ma) Am¶moJmÀ¶m {e’$maer ñnîQ> H$am. Ë¶mMr JwUd¡{eîQ>ço Am{U 

Xmofm§Mo ‘yë¶‘mnZ H$am. 
 

    
4. (A) àm¡T> {ejUmMr g§H$ënZm Am{U JaO ñnîQ> H$am. 08 
  qH$dm 
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  ""Ooìhm Am¡nMm[aH$$, AZm¡nMm[aH$ Am{U Z-Am¡nMm[aH$ {ejU EH${ÌVnUo H$m‘ H$aVrb Voìhm ^maVmÀ¶m 
JaOm§Mr nyVu hmoB©b.'' {Q>ßnUr H$am. 

 

    
 (~) XÿañW {ejUmV Am¶S>m°bÀ¶m ^y{‘Ho$Mo dU©Z H$am. 08 
  qH$dm  
  ""{ejUmMr g§Yr hþH$boë¶m§Zm e¡j{UH$ g§Yr XoÊ¶mgmR>r Am{U dm¶grE‘²Amo¶y ‘hÎdnyU© ^y{‘H$m ~OmdVmV.'' 

{Q>ßnUr H$am. 
 

    
5.  Imbrbn¡H$s H$moUË¶mhr Mmam§da WmoS>³¶mV {Q>nm {bhm…- 16 
  (A) ^maVr¶ {ejUmgmR>r B©ñQ> B§{S>¶m H§$nZrMo àma§{^H$ à¶ËZ 

(~) H${ZîR> ‘hm{dÚmb¶m§Mo àemgZ 
(H$) ‘mÜ¶{‘H$ ñVamda {ejUmÀ¶m ì¶mdgm{¶H$sH$aUmMr Amdí¶H$Vm 
(S>) àmW{‘H$  emim§Mo àemgZ 
(B) ‘mÜ¶{‘H$ ñVamdarb Vm§{ÌH$ {ejU 
(’$) nyd© - àmW{‘H$ g§ñWm§Mo àH$ma 
  

 

 

6.  h¶m nonagmR>r "emioVyZ Jimboë¶m' {dÚmÏ¶mªÀ¶m Vwåhr KoVboë¶m ‘wbmIVrMm qH$dm Z-Am¡nMm[aH$ {ejU 
g§ñWobm {Xboë¶m ^oQ>rMm Ahdmb {bhm. 

20 

-------------- 
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                                                    ({hÝXr AZwdmX) 
                                                 (g‘¶ - 3 K§Q>o) Hw$b A§H$ … 100 

 

gyMZm…  1. g^r àíZ A{Zdm¶© h¢& 
 
 

1. (A) ^maVr¶ {ejm H$s d¥{Û na h§Q>a Am¶moJ Ho$ à^md H$mo ñnîQ> H$s{OE& 08 
  AWdm  
  ^maVr¶ {ejm na ñdXoer Am§XmobZ Ho$ à^md H$m dU©Z H$s{OE&  
    
2. (~) H$moR>mar Am¶moJ H$s {e’$m[aem| H$mo {ZåZ Ho$ g§X ©̂ ‘| ñnîQ> H$s{OE…- 08 
  1) H$m¶ª AZw^d 2) {dkmZ {ejm& 

 

 
  AWdm  
  amîQ´>r¶ {ejm Zr{V Ho$ Ûmam Xr JB© {e’$m[aem| H$m {dñVmarH$aU {ZåZ H|$ g§X ©̂ ‘| H$s{OE…- 

{ejm H$s amîQ´>r¶ àUmbr VWm àma§{^H$ ~më¶dñWm {ejm VWm gwajm& 
 

    
2. (A) ^maV ‘| nyd© àmW{‘H$ {ejm Ho$ Aä¶mgH«$‘ H$mo ñnîQ> H$s{OE& 08 
  AWdm  
  ^maV ‘| nyd© àmW{‘H$ {ejm Ho$ {dH$mg H$mo AZwa o{IV H$s{OE&  
    
 (~) ^maV ‘| nyd© àmW{‘H$ {ejm Ho$ Aä¶mgH«$‘ VWm ‘yë¶mH§$Z à{H«$¶m H$m ‘yë¶m§H$Z J§^ra én go H$s{OE& 08 
  AWdm  
  àmW{‘H$ {ejm Ho$ d¡ídrH$aU ‘| H|$Ð VWm amÁ¶ gaH$ma H$s ^y{‘H$m ñnîQ> H$s{OE&  
    
3. (A) ^maV ‘| àmW{‘H$ {ejm Ho$ Aä¶mgH«$‘ H$m dU©Z H$s{OE& 08 
  AWdm  
  {ejm H$s 10+2+3 g§aMZm Ho$ {b¶o ³¶m ^maV H$mo EH$ gm‘mÝ¶ {dX¶mb¶ àUmbr H$s Amdí¶H$Vm h¢? ^maV 

H$s ZB© e¡j{UH$ Zr{V¶m| Ho$ àmg§{JH$Vm Ho$ AmYma na AnZo CÎma H$mo Ý¶m¶mo{¶V H$s{OE& 
 

    
 (~) "gaH$mar {dX¶mb¶' go ³¶m VmËnV¶© h¡? CZHo$ àH$ma, ’$m¶Xo VWm ‘¶m©Xm±E ~VmB¶o. 08 
  AWdm  
  ‘mÜ¶{‘H$ Am¶moJ (‘wX{V¶ma) 1952-53 Ho$ Ûmam Xr JB© {e’$m[aem| H$mo  ñnîQ> H$s{OE& BgHo$ ’$m¶Xo VWm 

‘¶m©XmAm| H$m ‘yë¶m§H$Z H$s{OE& 
 

    
4. (A) ì¶ñH$ {ejU H$s g§H$ënZm VWm Amdí¶H$Vm H$mo ñnîQ> H$s{OE& 08 
  AWdm 

 
 



Q.P. Code :07735 

  

 

TURN OVER 

6 
 

  O~ Am¡nMm[aH$ AZm¡nMm[aH$ VWm Z Am¡nMm[aH$ {ej g§¶w³V én go H$m¶© H$aVr h¢ V~ ^maV H$s 
Amdí¶H$VmAm| H$s àm{ßV H$s Om gH$Vr h¢& 

 

    
 (~) XÿañW {ejU ‘| ‘w³V VWm XÿañW {ejU g§ñWmZ H$s ^y{‘H$m H$m dU©Z H$s{OE& 08 
  AWdm  
  "{OZ bmoJmo Zo {ejm Ho$ Adga Imo {X¶o h¢ CZH$mo B½Zw VWm dm¶ gr Eg Amo ¶y e¡j{UH$ Adga àXmZ H$admZ|  

‘| ‘hÎdnyU© {Z^mV| h¡'& {Q>ßnUr H$s{OE& 
 

    
5.  {ZåZ ‘| go {H$Ýht Mma na g§{jßV ‘| {b{I¶o…- 16 
  (A) ^maVr¶ {ejm Ho$ {bE BñQ> B§{S>¶m H$n§Zr Ûmam {H$¶o J¶o àma§{^H$ à¶mg 

(~) ‘mÜ¶{‘H$ ‘hm{dX¶mb¶ H$m emgZ à~§Y  
(H$) ‘mÜ¶{‘H$ ñVa na ì¶dgm{¶H$aU H$s Amdí¶H$Vm 
(S>) àmW{‘H$ {dX¶mb¶m| H$m emgZ à~§Y  
(B) ‘mÜ¶{‘H$ ñVa na VH$ZrH$s {ejm 
(’$) nyd©-àmW{‘H$ g§ñWmZ Ho$ àH$ma 
  

 

 

6.  AmnJo Ûmam "{dX¶mb¶ N>moS>Zodmbo {dX¶mWu' ¶m "Z Am¡nMm[aH$ {ejH$ g§ñWmZ' ‘| {H$¶o J¶o gmjmËH$ma H$s 
[anm}Q> H$mo {b{I¶o {Ogo AmnZo àmË¶{jH$ H$m¶© Ho$ én ‘| Bg n[anÌ Ho$ {b¶o {H$¶m h¢& 

20 

-------------- 
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Please check whether you have got the right question paper. 

 

N.B: 1. Attempt all questions. 

  

 

1. (a) Educational technology is widely accepted as a sum of technology in education & technology 

of education - Explain.  

08 

  OR  

  Explain the characteristics of Educational Technology. 08 

    

 (b) Define communication. Explain “Communication Cycle” 08 

  OR  

  Explain the process of communication. 08 

    

2. (a) 'Transactional analysis is very useful to analyze classroom interaction'. Discuss. 08 

  OR  

  Explain the use of Transactional Analysis as a communication skill. What are its implications 

for effective teaching and learning? . 

08 

    

 (b) Explain the role of Online learning in distance education. 08 

  OR  

  'The skill of questioning can draw attention to higher mental abilities'. Comment. 08 

    

3. (a) What is meant by audio-visual aid? Bring out the psychological basis of the use of audio-

visual aids. 

08 

  OR  

  Explain the significance of the radio as a teaching aid. What are its limitations? 

 

08 

 (b) State the Principles of Multisensory learning. How can a teacher integrate these principles 

effectively? 

08 

  OR  

  Explain the role of electronic media in distance education? 08 

    

4. (a) What are the advantages and limitations of role playing as a method of teaching and learning? 08 

  OR  

  Self-study is considered as a very important method of learning. Justify. How can this method 

be made more effective? 

 

 

 (b) Explain Computer Managed Instruction. State its benefits & limitations.  

  OR  

  "Computer Assisted Instruction has been used as a supplement to traditional classroom 

instruction". Comment 
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5.  Write note on any for topics: 16 

  a) Benefits of CAl 

b) Type of communication 

c) Concept of Transactional Analysis 

d) Online Learning 

e) Use of Black board as a teaching aid 

f) Characteristics of a Seminar 

 

    

6.  Write a detailed account of your practical work in this paper. 20 

  

------------------------------ 
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(‘amR>r AZwdmX) 

 
 

1. (A) "e¡j{UH$ V§ÌkmZ ho {ejUmVrb V§ÌkmZ Am{U {ejUmMo V§ÌkmZ øm§Mr Jmoim~oarO åhUyZ gd©Xÿa ñdrH¥$V 
Pmbo Amho.'' ñnîQ> H$am. 

08 

  qH$dm  
  e¡j{UH$ V§ÌkmZmMr d¡{eîQ>ço ñnîQ> H$am. 08 
    
 (~) g§àofUmMr ì¶m»¶m Úm. "g§àofU MH«$' ñnîQ> H$am. 08 
  qH$dm  
  g§àofU à{H«$¶m ñnîQ> H$am. 08 
    

2. (A) "dJm©Vrb Am§Va{H«$¶m§Mo {díbofU H$aÊ¶mgmR>r ì¶dhma {díbofU A{Ve¶ Cn¶w³V Amho.'' MMm© H$am. 08 
  qH$dm  
  ì¶dhma {díbofUmMm Cn¶moJ EH$ g§àofU H$m¡eë¶ åhUyZ ñnîQ> H$am. à^mdr AÜ¶¶Z-AÜ¶mnZmgmR>r Ë¶mMo 

H$m¶ ‘hÎd Amho? 

08 

    
 (~) XÿañW {ejUmV Am°ZbmB©Z AÜ¶¶ZmMr ^y{‘H$m ñnîQ> H$am. 08 
  qH$dm  
  ""àíZH$m¡eë¶ ho CƒñVar¶ ‘mZ{gH$ j‘Vm§H$S>o bj doYyZ KoVo.'' {Q>ßnUr H$am. 08 
    

3. (A) ÑH²$-lmì¶ gmYZ åhUOo H$m¶? ÑH²$-lmì¶ gmYZm§À¶m dmnamMo ‘mZgemñÌr¶ AmYma {bhm. 08 
  qH$dm  
  e¡j{UH$ gmYZ åhUyZ ao{S>Amo¶o ‘hÎd ñnîQ> H$am. Ë¶mÀ¶m ‘¶m©Xm H$moUË¶m? 

 
08 

 (~) ~hþE|{Ð¶ AÜ¶¶ZmMr VÎdo {bhm. {ejUH$ hr VÎdo à^mdrnUo H$emàH$mao EH$mpË‘V H$aVrb? 08 
  qH$dm  
  XÿañW {ejUmV Bbo³Q́>m°{ZH$ ‘mÜ¶‘m§Mr ^y{‘H$m ñnîQ> H$am. 08 
    

4. (A) AÜ¶mnZmMr EH$ nX²YVr åhUyZ ŷ{‘H$m{^Z¶mMo ’$m¶Xo Am{U ‘¶m©Xm H$moUË¶m? 08 
  qH$dm  
  ""ñd¶§AÜ¶¶Z hr AÜ¶¶ZmMr AË¶§V ‘hÎdnyU© nX²YVr g‘Obr OmVo.'' g‘W©Z H$am. hr nX²YVr AmUIr 

à^mdemhr H$emàH$mao H$aVm ¶oB©b? 
 

 

 (~) g§JUH$ ì¶dñWm{n¶ AZwXeoZ ñnîQ> H$am. Ë¶mMo JwU Am{U ‘¶m©Xm {bhm. 08 
  qH$dm  
  ""g§JUH$ ghmæ¶ AZwXoeZ ho nma§nm[aH$ dJ© AÜ¶mnZmg nyaH$ åhUyZ Cn¶w³V Amho.'' {Q>ßnUr H$am.  
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5. Imbrbn¡H$s H$moUË¶mhr Mmam§da WmoS>³¶mV {bhm. 16 
 A) gr.E.Am¶Mo ’$m¶Xo   
 ~) g§àofUmMo àH$ma  
 H$) ì¶dhma {díbofUmMr g§H$ënZm  
 S>) Am°ZbmB©Z AÜ¶¶Z  
 B) e¡j{UH$ gmYZ åhUyZ ’$bH$mMm Cn¶moJ  
 ’$) n[ag§dmXmMr d¡{eîQ>ço  
    

6. hçm nonagmR>r Vwåhr Ho$boë¶m àmË¶{jH$ H$m¶m©Mm Ahdmb {bhm. 
 

20 

 
---------------- 
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5 
({hÝXr AZwdmX) 

 
 

1. (A) ""e¡{jH$ VH$ZrH$s, ¶h {ejm H$s hH$ZrH$s Am¡a {ejm H$s VH$ZrH$s Ho$ én ‘| ñdrH¥$V JB© h¡'' Ho$ ¶moJ ñnîQ> 
H$s{OE& 

08 

  AWdm  
  e¡{jH$ VH$ZrH$s H$s {deofVmE± ñnîQ> H$s{OE& 

 
08 

 (~) g§àofU H$s n[a^mfm {b{IV& g§àofU MH«$ ñnîQ> H$s{OE& 08 
  AWdm  
  g§àofU à{H«$¶m ñnîQ> H$s{OE& 08 
    

2. (A) ""dJ© ‘o§ A§Va {H«$¶m {díbofU H$aZo Ho$ {bE ì¶dhma {díbofU AË¶§V Cn¶moJr h¡&'' MMm© H$s{OE. 08 
  AWdm  
  ì¶dhma {díbofU H$m Cn¶moJ EH$ g§àofU H$m¡eb Ho$ én ‘| ñnîQ> H$s{OE& à^mdr  AÜ¶¶Z-AÜ¶mnZ Ho$ 

{bE CgH$m ³¶m ‘hÎd h¡? 
08 

    
 (~) XÿañW {ejm ‘| Am°ZbmB©Z AÜ¶¶Z H$s ^y{‘H$m ñnîQ> H$s{OE. 08 
  AWdm  
  ""àíZ H$m¡eë¶ ¶h CMñVar¶ ‘mZ{gH$ j‘Vm H$s Amoa AmH${f©V H$aVr h¡&'' {Q>ßnUr H$s{OE& 08 
    

3. (A) ÑH²$-lmì¶ gmYZ H$m ³¶m AW© h¡? ÑH²$-lmì¶ gmYZm| Ho$ Cn¶moJ Ho$ ‘mZmod¡km{ZH$ AmYma {b{IE& 08 
  AWdm  
  e¡{jH$ gmYZ Ho$ én ‘| ao{S>Amo Ho$ ‘hËd ñnîQ> H$s{OE& CgH$s ‘¶m©XmE° H$moZ-gr h¡? 

 
08 

 (~) ~hþB§{Q>́¶ AÜ¶¶Z Ho$ {gX²Ym§V {b{IE& {ejH$ BZ {gX²Ym§Vm| H$m à^mdr én go {H$g àH$ma EH$mpË‘H$aU 
H$a|Jo? 

08 

  AWdm  
  XÿañW {ejm ‘| Bbo³Q´>m°{ZH$ ‘mÜ¶‘m| H$s ^y{‘H$m ñnîQ> H$s{OE& 08 
    

4. (A) AÜ¶mnZ H$s EH$ nX²YVr Ho$ én ‘| ^y{‘H$m A{^Z¶ Ho$ bm^ VWm ‘¶m©XmE± H$m¡Z-gr h¡? 08 
  AWdm  
 (~) ""ñd¶§ AÜ¶¶Z ¶h AÜ¶¶Z H$s AË¶§V ‘hËdnyU© nX²YVr g‘Pr OmVr h¡&'' g‘Wm©V H$s{OE& Bg nX²YVr 

H$mo Amoa à^mdr H¡$go ~ZmEJ|? 
08 

  AWdm 
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  g§JUH$ ì¶dñWm{nV AZwXoeZ ñnîQ> H$s{OE& CgHo$ bm^ Am¡a ‘¶m©XmE° {b{IE&  
  AWdm  
  ""g§JUH$ ghm¶ AZwXoeZ ¶h nm§an[aH$ dJ©-AÜ¶mnZ Ho$ nyaH$ Ho$ én ‘| Cn¶w³V hmoVm h¡&'' {Q>ßnUr 

H$s{OE& 
 

 

5. {ZåZ{b{IV ‘| go {H$Ýhr nm§M na {Q>ßnUr¶m± {b{IE& 16 
 A) gr.E.Am¶ Ho$ bm^  
 ~) g§àofU Ho$ àH$ma  
 H$) ì¶dhma {díbofU H$s g§H$ënZm  
 S>) Am°ZbmB©Z AÜ¶¶Z  
 B) e¡j{UH$ gmYZ  Ho$ én ‘| ~moS>© H$m Cn¶moJ  
 ’$) n[ag§dmX H$s {deofVmE±  
    

6. Bg nona Ho$ {bE AmnHo$ X²dmam {H$E JE àmË¶{jH$ H$m¶© H$m boIm {dñVma go {b{IE& 20 
 
 

---------------- 
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Please check whether you have the right question paper. 

N.B.: 1) Attempt all questions. 

 

1. A) What is meant by Measurement? How is it different from Evaluation? 07 

  OR  

  “The modern concept of evaluation comprises of formative as well as summative 
evaluation”. Justify. 

08 

    

 B) Explain the interdependence of Measurement and Evaluation with suitable 

examples. 

07 

  OR  

  “Evaluation is a Comprehensive and Continuous process”? Explain this 
statement. 

08 

    

2. A) What do you understand by Learning outcomes? Elucidate the significance of 

learning outcomes. 

07 

  OR  

  “Instructional objectives, specification, learning experiences & evaluation shows 
cyclic relationship”. Justify giving suitable examples. 

 

    

 B) What are Learning Experiences? Discuss various types of learning experiences. 08 

  OR  

  Differentiate between aims and objectives. Illustrate the levels of objectives 

under cognitive domain from simple to complex order. 

 

    

3. A) Write in detail the important characteristics of a good measuring instrument? 07 

  OR  

  What is meant by Observational Technique? Explain the advantages of  a Rating 

Scale. 

 

    

 B) Explain the concept of Reliability of a test. Discuss factors affecting reliability 

of a test. 

08 

  OR  

  “A valid test is always reliable but a reliable test need not be Valid”. Discuss this 

statement. 

 

    

4. A) Explain in detail the concept of Criterion Referenced Tests. 07 

  OR  

  Differentiate between Criterion Referenced Test and Norm Referenced Test.  

    

    

    

    



2 

 

TURN OVER 

Q. P. Code : 40074 

 

_______________ 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 B) What are external examinations? Discuss various problems related to the conduct 

of external examinations. 

08 

  OR  

  ‘Internal assessment & External assessment should supplement each other for 
proper evaluation of the student’. Justify. 

 

    

5. A) Enumerate merits and limitations of Histogram. 05 

 B) Study the following distribution table and answer the questions given below. 

  Marks 55-59 50-54 45-49 40-44 35-39 30-34 

  Number of Students      3     7     12    15     8     5 

1) How many students are therein all? 

2) How many have got more than 39, but less than 50? 

3) Which class interval has the highest frequency? 

4) What is the midpoint of class interval 30-34? 

04 

 C) Find mean, median and standard deviation of the above distribution. 3+4+4 

   

6. Write short notes on any Four of the following : 20 

 a) Functions of Educational Evaluation.  

 b) Characteristics of good learning experience  

 c) Merits of an oral exam  

 d) Demerits of an essay test  

 e) Meaning of Norm Referenced Test  

 f) Uses of the reporting system  



3 

 

TURN OVER 

Q. P. Code : 40074 

( ‘amR>r ^mfm§Va ) 
                                                                             ( 3 Vmg ) ( EHy$U JwU : 100 ) 

 

 

1. A) ‘mnZ åhUOo H$m¶? ‘yë¶‘mnZmnojm Vo H$emàH$mao {^Þ Amho? 07 

  qH$dm  

  ""‘yë¶‘mnZmÀ¶m AmYw{ZH$ g§H$ënZoV {Z‘m©UmË‘H$ Am{U g‘mnZmË‘H$ ‘yë¶‘mnZ ¶oVo'', 
g‘W©Z H$am. 

 

    

 ~) ‘mnZ Am{U ‘yë¶‘mnZmMo nañnamdb§{~Ëd gw¶mo½¶ CXmhaUm§gh ñnîQ> H$am. 08 

  qH$dm  

  ""‘yë¶‘mnZ hr gdªH$f Am{U gmVË¶nyU© à{H«$¶m Amho'', ho {dYmZ ñnîQ> H$am.  

    

2. A) AÜ¶¶Z {ZînÎmr åhUOo H$m¶? AÜ¶¶Z {ZfÎmrMo ‘hÎd {deX H$am. 07 

  qH$dm  

  ""AZwXoeZmMr C{ÔîQ>ço, ñnîQ>rH$aUo, AÜ¶¶Z AZw^d Am{U ‘yë¶‘mnZ ¶mV MH«$mH$ma g§~§Y 
AmT>iVmo'', gw¶mo½¶ CXmhaUm§gh g‘W©Z H$am. 

 

    

 ~) AÜ¶¶Z AZw^d åhUOo H$m¶? AÜ¶¶Z AZw^dmMo {d{dY àH$mam§Mr MMm© H$am. 08 

  qH$dm  

  Ü¶o¶ Am{U C{ÔîQ>m§Vrb ’$aH$ ñnîQ> H$am. gmoß¶mH$Sy>Z H${R>ZmH$S>o ¶m H«$‘mZo ~moYmË‘H$ joÌmVrb 
C{ÔîQ>m§Mo ñVa gmoXmhaU ñnîQ> H$am. 

 

    

3. A) Mm§Jë¶m ‘mnZ gmYZmMr ‘hÎdnyU© d¡{eîQ>ço {dñVmanyd©H$ {bhm. 07 

  qH$dm  

  {ZarjU V§Ì åhUOo H$m¶? nX{ZíM¶Z loUrMo ’$m¶Xo ñnîQ> H$am.  

    

 ~) H$gmoQ>rÀ¶m {dídgZr¶VoMr g§H$ënZm ñnîQ> H$am. H$gmoQ>rÀ¶m {dídgZr¶Voda n[aUm‘ H$aUmè¶m 
KQ>H$m§Mr MMm© H$am. 

08 

  qH$dm  

  ""d¡Y H$gmoQ>r Zoh‘rM {dídgZr¶ AgVo nU {dídgZr¶ H$gmoQ>r hr d¡Y Agob Ago Zmhr'', 
øm {dYmZmMr MMm© H$am. 

 

    

4. A) {ZH$f g§X{^©¶ H$gmoQ>çm§Mr g§H$ënZm {dñVmanyd©H$ ñnîQ> H$am. 07 

  qH$dm  

  {ZH$f g§X{^©¶ H$gmoQ>r Am{U à‘mU g§X{^©¶ H$gmoQ>rVrb ’$aH$ ñnîQ> H$am.  
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 ~) ~mø narjm åhUOo H$m¶? ~mø narjm KoÊ¶mer g§~§YrV {d{dY g‘ñ¶m§Mr MMm© H$am. 08 

  qH$dm  

  ""{dÚmÏ¶mªÀ¶m ¶mo½¶ ‘yë¶‘mnZmgmR>r A§VJ©V Am{U ~mø ‘yë¶{ZYm©aU nañnanyaH$ Agbo 
nm{hOoV'', g‘W©Z H$am. 

 

    

5. A) ñV§^mboImMo JwU Am{U ‘¶m©Xm {bhm. 05 

 ~) Imbrb {dVaU V³Ë¶mÀ¶m Aä¶mg H$éZ {dMmaboë¶m àíZm§Mr CÎmao {bhm … 
JwU 55-59 50-54 45-49 40-44 35-39 30-34 

{dÚmWu g§»¶m 3 7 12 15 8 5 

1) EHy$U {dÚmWu g§»¶m {H$Vr Amho? 

2) {H$Vr OUm§Zm 39 nojm OmñV na§Vw 50 nojm H$‘r {‘imbo AmhoV? 

3) H$moUË¶m dJmªVamMr dma§dmarVm CÀMV‘ Amho? 

4) dJmªVa 30-34 Mm ‘Ü¶q~Xÿ H$moUVm? 

04 

 H$) darb {dVaUmMm ‘Ü¶‘mZ ‘Ü¶m§H$ Am{U à‘mU {dMbZ emoYm. 3+4+4 

    

6. Imbrbn¡H$s H$moUË¶mhr Mmam §da WmoS>³¶mV {bhm … 20 

 A) e¡j{UH$ ‘yë¶‘mnZmMr H$m¶}.  

 ~) Mm§Jë¶m AÜ¶¶Z AZw^dmMr d¡{eîQ>ço.  

 H$) ‘m¡{IH$ narjoMo JwU.  

 S>) {Z~§YdOm H$gmoQ>rÀ¶m ‘¶m©Xm.  

 B) à‘mU g§X{^©¶ H$gmoQ>rMm AW©.  

 ’$) Ahdmb àofU àUmbrMo Cn¶moJ.  
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1. A) ‘mnZ H$m ³¶m AW© h¡? ‘yë¶m§H$Z H$s Anojm ¶h {H$g àH$ma {^Þ h¡? 07 

  AWdm  

  ""‘yë¶m§H$Z H$s AmYw{ZH$ g§H$ënZm ‘| {Z‘m©UmË‘H$ Am¡a g‘mnZmË‘H$ ‘yë¶m§H$Z hmoVm h¡ &'', 
g‘W©Z H$s{OE & 

 

    

 ~) ‘mnZ Am¡a ‘yë¶m§H$Z EH$ Xÿgao na nañna {Z ©̂a h¡ & gw¶mo½¶ CXmhaUm| Ho$ gmW ñnîQ> H$s{OE & 08 

  AWdm  

  ""‘yë¶m§H$Z hr ì¶mnH$ Am¡a {Za§VanyU© à{H«$¶m h¡ &'', {dYmZ ñnîQ> H$s{OE &  

    

2. A) AÜ¶¶Z {ZînÎmr H$m ³¶m AW© h¡? AÜ¶¶Z {ZfÎmr Ho$ ‘hÎd {deX H$s{OE & 07 

  AWdm  

  ""AZwXoeZ Ho$ CÔoí¶, ñnîQ>rH$aU, AÜ¶¶Z AZw^d Am¡a ‘yë¶m§H$Z BZ‘o MH«$mH$ma g§~§Y hmoVm 

h¡&'', C{MV CXmhaUmg{hV g‘W ©Z H$s{OE & 

 

    

 ~) AÜ¶¶Z AZw^d H$m ³¶m AW© h¡? AÜ¶¶Z AZw^d Ho$ {d{dY àH$mam| H$s MMm© H$s{OE & 08 

  AWdm  

  Ü¶o¶ Am¡a CÔoí¶ ‘| A§Va ~VmB©¶o & gab go H${R>Z H$s Amoa H«$‘ ‘| ~moYmË‘H$ joÌ Ho$ CÔoí¶m| 
Ho$ ñVa gmoXmhaU ñnîQ> H$s{OE & 

 

    

3. A) AÀN>r ‘mnZ gmYZ H$s ‘hÎdnyU© {deofVmE± {dñVma go {b{IE & 07 

  AWdm  

  {ZarjU V§Ì H$m ³¶m AW© h¡ ? nX{ZíM¶Z loUr Ho$ bm^ ñnîQ> H$s{OE &  

    

 ~) H$gm¡Q>r H$s {díd¶{Z¶Vm H$s g§H$ënZm ñnîQ> H$s{OE & H$gm¡Q>r {dídg{Z¶Vmna n[aUm‘ 
S>mbZodmbo KQ>H$mo H$s MMm© H$s{OE & 

08 

  AWdm  

  ""d¡Y H$gm¡Q>r h‘oem {díd{Z¶ hmoVr h¡, na§Vw {díd{Z¶ H$gm¡Q>r d¡Y hmoJr Eogm Zht h¡ &'' Bg 
{dYmZ H$s MMm© H$s{OE & 

 

    

4. A) {ZH$f g§X{^©¶ H$gm¡Q>r H$s g§H$ënZm {dñVma go ñnîQ> H$s{OE & 07 

  AWdm  

  {ZH$f g§X{^©¶ H$gm¡Q>r Am¡a à‘mU g§X{^©¶ H$gm¡Q>r ‘| A§Va ñnîQ> H$s{OE &  
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 ~) ~mø narjm H$m ³¶m AW© h¡? ~mø narjm boZo go g§~§{YV {d{dY g‘ñ¶mAm| H$s MMm© H$s{OE 
& 

08 

  AWdm  

  ""{dÚm{W©¶m| Ho$ ¶mo½¶ ‘yë¶m§H$Z Ho$ {bE A§VJ©V Am¡a ~mø ‘yë¶{ZYm©aU nañna nyaH$ hmoZo 
Mm{hE&'', g‘W ©Z H$s{OE & 

 

    

5. A) ñV§^mboI Ho$ bm^ Am¡a ‘¶m©XmE± {b{IE & 05 

 ~) {ZåZ {daVaU gmaUr Ho$ AmYmana àíZm| Ho$ CÎma {b{IE & 

A§H$ 55-59 50-54 45-49 40-44 35-39 30-34 

{dÚmWu g§»¶m 3 7 12 15 8 5 

1) Hw$b {dÚmWu¶m| H$s g§»¶m {H$VrZ h¡? 

2) {H$VZo {dÚmWu¶m| H$mo 39 go A{YH$ na§Vw 50 go H$‘ A§H$ {‘bo h¡? 

3) {H$g dJ© ~ma§~marVm CÀMV‘ h¢? 

4) dJ© 30-34 H$m ‘Ü¶q~Xÿ H$m¡Z-gm h¡? 

04 

 H$) Cnamoº$ {dVaU H$m ‘Ü¶‘mZ, ‘Ü¶m§H$ Am¡a à‘mU {dMbZ {ZH$m{bE & 3+4+4 

    

6. {ZåZ{b{IV ‘| go {H$Ýhr Mma na g§jon ‘| {b{IE & 20 

 A) e¡{jH$ ‘yë¶‘mnZ Ho$ H$m¶}.  

 ~) AÀN>o AÜ¶¶Z AZw^d H$s d¡{eîQ>ço.  

 H$) ‘m¡{IH$ narjm Ho$ bm^.  

 S>) {Z~§YmË‘H$ H$gm¡Q>r H$s ‘¶m©Xm.  

 B) à‘mU g§X{^ ©¶ H$gm¡Q>r H$m AW©.  

 ’$) [anmo{>Q>ªJ àUmbr Ho$ Cn¶moJ.  


